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Math 285, Quiz #3, Spring 2012

Instructions: Show all work.

1. Verify that the exact equation dx + (3;; + siny)

integrating factor. Find p.
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2. Find the solution to the second order equation
Determine the maximum value of the solution (

on that same interval.

2¢*=3c+\=0
(2 V(- \)=0
= Va7r;|

e

\/I:C \/L’@t
NG = Aty 4 B’

qlo)=a = A+
V()= et Bt

V(oY= Ya = HhAtB
(x-2)

dy = 0 can be solved by the use of an

2y" —3y' +y = 0,y(0) =2,y'(0) = 1/2.
if it exists) on t=0, and find any points where y=0
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